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Grade 8Enr                    
MID TERM TEST – OCT 2010-11

                                                   MATHEMATICS                                          4/10/10

Duration: 55 min                                                                               Max marks: 30 

Answer all of the following questions:
1) State which of the following are irrational.                                                                              [2]
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2)


The diagram shows a signpost on the route between Pune and Mumbai.

(a) If the distances on the signpost are to the nearest kilometer, find the least possible distance between Pune and Mumbai, along its route.                                                     [1]
(b) If, however, the distances are to the nearest ten kilometers, find the least possible distance between Pune and Mumbai, along this route.

                                     [1]

3) Simplify

a) 
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b) 
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4) Sachin’s heart beats 72 times per minute.

(a) Calculate how many times it beats in 1 year. [Use 1 year ( 365 days.]
              [1]


(b) Write your answer to part (a) in standard form, correct to 3 significant figures.  [ 2]

5) Given that p > 1,write the following four terms in order of size, smallest first                    [2]
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6) A pole is of length L cm.
a) Hassan says that L = 88.2.Round this to the nearest whole number.                           [1]

b) In fact the pole has a length of 86 cm, to the nearest cm. Complete the statement  about L.                                                                                                                            [2]

7) A very rich oil sheikh leaves his fortune of $3.6 x 108 to be divided between his hundred children. How much does each child receive? Give your answer in standard form.        [2]
8) Simplify:
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b)        
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c) Given that 
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d) If 
[image: image15.wmf]2

1

9

3

1

-

+

¸

÷

ø

ö

ç

è

æ

x

x

 = 
[image: image16.wmf]3

2

81

-

x

, find x                                                                                   [3]   

ROUGH WORK











































PUNE





150 km





MUMBAI





40 km








2010-11//Gr 8Enr/Mid Term Test

Page 1 of 5

_1271471057.unknown

_1346868971.unknown

_1346869880.unknown

_1346870266.unknown

_1346870190.unknown

_1346869523.unknown

_1346869773.unknown

_1346869803.unknown

_1346869551.unknown

_1346869032.unknown

_1346868583.unknown

_1346868646.unknown

_1346868517.unknown

_1239033876.unknown

_1256350552.unknown

_1239033812.unknown

